B (700) GIASAIRHIZE 8 ¢ (710) YAHIE Mg (711) 234 S 1 (101) 912t ool @
L5 cC
%gk,,ﬂ;; = = o & o ;dlj ;H‘ 5 & 5 ] x
s A 85,500,000 59,500,000 | 26,000,000
700
ot=SC ALHHI S 31,443,372| 29,367,051 2,076,321
710
Fgdl= 30,914,195| 28,075,051 2,839,144
711
21| 1,284,338 1,206,806 77,532
100
elEl 23| 251,489 135,522 115,967
101
el 2 251,489 135,522 115,967
251,489 135,522 115,967|03 SIJHAZ 2 NHE =

lEs 41,2103 x 49H x 313
0= 12,898,730 x 43 x 1/12 x 300%

12,898, 730& x 49 x 1/12x 120%

- EZELY 41,2109 x 49 x 52

41,2108 x 49 x 20

129,289

51,595

12,899

5,160

8,572

3,297
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Mg (711) 20044l £ ¢ (101) o244l (et @ A3

=
= Z & E pli =

oH

A=Y 7,730 x 4H x 22A1 2 x 128 = 8,163

== ge | 30,000 x 49 x 122 = 1,440

- A S A 80,0008 x4E x 12& = 3,840

IPESd 60,000 x 4% x 128 = 2,880

=) P 41,2103 x 658 x 4H x 50% = 5,358

- JHAH 2 &4 50,000& x 4% x 128 = 2,400

s222E 61,830& x 116 x2H = 14,345

Ag8+< 25,0003 x 49 x 128 = 1,200

d32=€ 12,898,730 x 4% x 1/12x 100% = 4,300

Z2HALH] 2,000& x4H x 252 x 128 = 2,400

== 30,0003 x 49 x 128 = 1,440

ogd0lstd Y 94,823
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=z 2 & = ] z
O_'H
JlE2= 1,167,990 x 2% x 128 = 28,032
g 1,737,990& x 29 x 200% = 6,952
a2 1,737,990& x 2% x 200% = 6,952
© M E S 1,737,990& x 2% x 300% = 10,428
s 70,000& x 2% x 12& = 1,680
ExgRad 90,000& x2H x 12&8 = 2,160
NAZHASY 70,000& x 2% x 12& = 1,680
S =R 160,000 x 2% x 128 = 3,840
| BN | 110,000& x 2% x 12& = 2,640
A== | 140,000 x 2% x 128 = 3,360
- BEFOHYI 1,737,990 x 2% x 150% = 5,214
- 2HALH] 5,000 x 2% x 25 x 128 = 3,000
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66,0303 x2H x 19

50,000& x 2H

130,000& x 4H

130,000& x 4H

10,000& x 4H

35,000& x 43

40,000& x 43

65,000& x 23




D (710) HHHIE Mg (711) 20044l
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10

3 @ =
of A o = 2 o = y] =
g of & o
ot X 3t 35,0003 x 29 = 70
29 10,000& x 2% = 20
2ot &2 20,000& x 29 = 40
- DX 5,000& x 2% = 10
AR EIIHREY S 224,112,000& x 11.1% = 24,877
23 &l 175,256 134,436 40,820
201
UB2A 152,256 111,436 40,820
152,256 85,376 66,880(02 =323H|
1. 2222 ¢ MAl 33,580
OlsS&3) SARE XN (ZEEY0,0008 x20 x 128 = 1,680
24ZXte B0y 750,000& x 204 = 1,500
AsSXHRHA 33 200,000& x 20 = 400




: (700) St2 S AHIE s @ (710) ¥HIE Mg (711) 2Adl 2 @ (201) Yt Ay (&9 @ M)
= PSIE ==
— of & oo = 2 At = pll =
& = of A o
QAZHEIE(28MA) &I .EMQ2
2,500,000 x 128l = 30,000
o3, AlAZRY Sl 112,000
SGIACAAES X2EEAAH(GIS) SK 22|
20,000,000 x 14l = 20,000
QAZHEIE(28MA) SX 22
1,500,0002 x 2874 A = 42,000
EHE B2AE X 2 50,000,000 x 1Al = 50,000
o4, XM ety 6,676
(A E™) 3,338,000 x 20 = 6,676
206
a2 23,000 23,000
23,000 23,000 0|01 Leri2Yl
odtaET AMEZ2 B4 UMT2Y 5,000,000 x 14! = 5,000
odtaE =2%=y ¢ 180,000% x 100X = 18,000




(700) st AlEHI AH2 Mg o (711) 21d| (&< &JH)
o a4 o= _ ]
300
AA0IH 857,593 936,848 AT9,255
307
aI2to| ™ 750,000 850,000 100,000
750,000 850,000 A 100,000
937,500,000& x 80% = 750,000
308
X SHH S0l H 107,593 86,848 20,745
107,593 86,848 20,745
At
10,759,230,000& x 1% = 107,593
713
X2l &l , 768,704 ,087,354 2,681,350
100
ol 2| 799,447 876,221 ANT6,774
101
ol M| 799,447 876,221 NT6,774
179,274 173,325 5,949 ==
z2Y 179,274
ALY 8,078& x 9% x 30AI2t x 128 = 26,173




(700) Bt = At L (710) YU Ag : (713) eIzl S 1 (101) oA GLEEL:
R
o & o 5 2 & = | ES
8 o & o
NEFESIEEEREETPY)
8,078& x 23H x 50A1 2t x 12& = 111,477
e =] 60,853 x 69 x 114& = 41,624
589,681 672,404 AB2,723|03 RINHAZZAE =+
c#A0IEA o2y 352,908
Jl=g 1,167,990 x8H x 12&8 = 112,128
g4 1,737,990& x 8H x 200% = 27,808
d2=d 1,737,990& x 8H x 200% = 27,808
X & ety 1,737,990& x 8H x 300% = 41,712
&4 B < X+ 40,000 x8H x0.78x 128 = 2,996
s FAIE 20,0003 x8H x 1.48x 128 = 2,842
Exgfsd 90,000& x 8% x 12& = 8,640
HAEHASE 70,000& x8YH x 128 = 6,720
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160,000 x 8H x 12
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140,000& x 8 x 12&
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(710) gLHIE MAIg  (713) HMel &l = (101) elAd] &2

ER=
of 4o | ES

o o

Rt FSE-) 35,0003 x84 = 280

-2 10,000& x8H = 80

gret &2t 20,0003 x 89 = 160

5,000& x8H = 40

352,907,000& x 11.1% = 39,173

98,000,000& x 294 = 196,000

30,492 30,492 04 JIZMI2=2XNSES
zel L HAFY ARY

7,842

35,290& x 10 x 20 = 7,058

7,058,000 x 11.1% = 784

oot elAl4 ol (Lo xtel) 22,650

orA 200,000& x 15F x7& = 21,000




(700) 5% & Al (710) SAHIE Mg : (713) HMel =l S @ (101) Q1] H8l)
C
of & o s At = pJ =
8 oo
ENET 110,000 x 15% 1,650
=33 1,800,200 ,946,667 AN 146,467
201
B2y 627,590 567,717 59,873
288,850 272,363 16,487[01 At 22l
ot 2 | 145,158
PFASE LEI=EH] 5,400,000& 5,400
A5 FALBE P 4,000,000 4,000
AlRlEE BEY MES JIE ~EH
2,500,0008 x 2J4 2 = 5,000
st+xelZed e »8Y 4,000,0008 = 4,000
M IIEEDY 2,2008 x 1504 x 200 4 x 128 = 792
P eIy ] 20,856
-PEEGAHAY 550,000% x 128 = 6.600




A& (713) ™el &bl
3
Z &t £ ) =

= 4,320
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180,000& x 20 & x 12&
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rx

|, 2ZHEETH
9,936

828,000& x 128

)

1,500,000& x 12| = 1,500

-0 >HEH HIIGA 222 (REX

2 M2 (REE, SdH)
= 4,080

3,750,000& x 200 &~ 7,500

117,000& x 20 & x 123 2,808

38,600& x 1562| = 6,022

50,0003 x 29 & x 128 = 1,200

10,000,000& x 14 10,000

2l FA =3 (C0D2 4HE=)

CAETMS BEel
5,000,000% x 20§ £ = 10,000




Mg (713) H2l&bl S ¢ (201) gEr2 gyl (E9
3 494 &
s 2 & & p] =
& of A o
TS KXl A 25,000,000% x 27§ £ = 50,000
-AEE FEFEA(18/2d)+=+2(FEZE, =)
6,000,000@ x 2Jf 2 = 12,000
o2. s nSH| 4,762
CSIAXEIAER2Y 28 A DFHI50,0008 x 112 x 13] = 1,650
FolotdBRIN A2 W WS
355,000% x 4% x 18| = 1,420
sE2Y MOIL 2 JIETs DS
150,000 x 5% x 23| = 1,500
- SlESod U YN 2SBSY 192,0008 x 19 = 192
©3. 2L+L(REE, 2) 107,440
R 60,0008 x 42 x 1282 = 30,720
SR (E-22Y) 50,0008 x 42 x 1942 = 38.800
SXLY(S-EQLY ZHELTY) 60,0008 x 4% x 1582 = 37,920
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MNIE o (713) Hel & £ 1 (201) LBt2EH (et @ A3
=S
= Z & E pli =
O_‘I-I
=4, Il =4l 5,280
2RSS 130,000& x 32F = 4,160
er& 3t 35,000& x329¥ = 1,120
ob. =&l 21,210
- E2NE2E =gl 7,350,000& = 7,350
ot=XclE OFZEBIE+Xt S%,0008 x6% x94 x 125 = 4,536
-ot=HM2E 2R =4 7,0008 x9% x54 x 125 = 3,780
ot=M0IE & otsscikl &XAMY F& 02N S4
7,000 x6H x 112 x 125 = 5,544
6. I 5,000
- EX SteXilY R+EY 2 M EH X
500,000& x 108 = 5,000




D (710) HHHIE Mg (713) ™el &l £ (201) LAy (

i
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S
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3 od o
of & o = oz a & | S
& of & o
328,740 295,354 33,386|02 Z&==2dHI

o1, ZZR2 ¥ MA 58,736

CBEAE2YE 2R 1,536,000& = 1,536

& Ot AMEE 22,800

- AEXZot=HelE ¥ SHEZE  1,300,000& x 128 = 15,600

- Eoiot=xXeldE ¥ SHEZE 600,000& x 12& = 7,200

S RS(AEE, EH) 70,0003 x 40H x 128 = 3,360

- NMEZ23 M AIEZ 21,600

- PEESI=H2F (73 H) 800,000& x 128 = 9,600

- Edllot+=xXel & (53 ) 600,000& x 128 = 7,200

- AARESIOETAIE(4MA) 400,000& x 128 = 4,800

-TRSLHIISHANEZ(REL) 200,000& x 128 = 2,400




MNIE o (713) Hel & £ 1 (201) LBt2EH (&2 - AR

& dH & x = =
- s Z s S | =
& ol &F oM

Bl (St 2l &) 140,000& x 4% = 560

- NSIA, 2EEZ 700,0002 x 6CH = 4,200
SEHNERE2 2,280
- NEg 135,0008 x 474 £ x 23] = 1,080
- IS 100,0002 x 6CH x 23] = 1,200
o2, A2 4,560
- BHctaMeE LUty a2yl
1,5009 x 802/ B /12 x 952 x 40/100 = 4,560
3. A& |l 229,846
M HFY R 7,200
-2 A 300,0008 x 404 = 1,200
-0 0IM ZRIED KXl 100,000 x 104 x 128 = 1,200
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NIg o (713) M el & £ 1 (201) LBt2EH (et @ A3
=
= Z & E pli =

O_'I-I
-ZelHJl |Adl 100,000& x 404 x 128 = 4,800
- AE2R A2l 17,546
- EZotrHelE 2,086& x3,682m" = 7,681
-Soiot=Xcel & 2,086& x4,729m" = 9,865
-ot=HMeld JIA & HIIEHl =X 68,000
-HELotrHMelH 35,000,000& x 14 = 35,000
-Soflot+=XclE 30,000,000& x 14 = 30,000
A 2330t elAl 4 1,000,000& x 3 & = 3,000
oMY EEE =4 70,000
- EZStrXHelE 100,000& x 150m" x 23| = 30,000
-Soflot=XalE 100,000& = 300m" = 30,000
~ARE23B5t=HelAlE (8 X) 100,000& x 80m = 8,000
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NIg o (713) M el & £ 1 (201) LBt2EH (et @ A3
=
= Z & E Il =
O_'I-I
- AR2335t=HMelAlE (22X, 3H0) 100,000 x20m" = 2,000
ot UHSHOAIAE(PLC)= Al 22l
10,000,000& x 204 & = 20,000
- ZAUEEH(AEY)RXNHI(2ZZ2EH L 298)
70,000& x 305 = 2,100
- SAAE R (SAAE 200E) 10,000,000 x 200 & = 20,000
- =EESFYH(FUE) SAHI(FEE)5,000,000& x 14! = 5,000
=HNSHZI SA2H(FEE) 5,000,000 x 14! = 5,000
-OIAE SAESH(RER) 5,000,000& x 14! = 5,000
- HEHBE SR (SH) 10,000,000& x 14! = 10,000
o4 It eyl 35,598
=4 2,635,000& x 1CH = 2,635
st= Xt 26,257




: (700) St2 S AHIE s @ (710) ¥HIE Mg : (713) X2l &bl 2 @ (201) Yt Ay (Sl @ HR)
= PSIE ==
— of & oo = 2 At = pll =
& = of A o
N 7.432,0002 x 20 = 14,864
-=3 4,717,0009 x 104 = 4,717
-AE 3,338,0002 x 20} = 6,676
S 3,353,0002 x 10} = 3,353
220 3,353,0002 x 10} = 3,353
10,000 0 10,000{03 & Al H
01 Yt 9y
S EHEZEY sAIA Y| 10,000,000& x 14! = 10,000
202
Ol Hl 105,900 113,100 AT7,200
105,900 113,100 AT7,200[01 2UHY MM
oFEQRUP =X 0 20,0002 x 32% x 112 x 128 = 84,480
oZXFQ BIOIAIY =X =X 0Hl 60,0008 x5% x 32 x 113] = 9,900




= (700) ot AlHH at (710) S Hdls Mg (713) HMel &bl 2 : (202) 044l =
o = ¥ W =
= of A o = 2 &k = y) =
o (g NE = of & o
odMI|otM&ALLt WE SO 60,000% x49H x 6L = 1,440
CBAMOIL L Jszs A X0
60,000 x6F x 3 x43] = 4,320
oMZ LML 2 KXISH A&
60,000& x4H x 3 x83| = 5,760
203
SEESSY 4,680 4,680
4,680 4,680 004 ENSIIRF=ZEHI
cRBA2Y APFXH(H 38Y) 4,680
J& 350,000& x 128 = 4,200
=1t 5,000& x 89 x 12& = 480
206
MZ I 819,910 778,620 41,290
199,300 193,430 5,870|01 Bt =H
oBl4aMRlR 29 Wa| 93, 100
SteHelAlY XYl WERY(REE)
400,000& x 128 x 23| = 9,600
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Mg : (713) HMel & £ : (206) M 24l (el &
[=
= 2 Ak = ] =
O_'I-I
SIaMelAA HH M2 (=)
250,0008 x 12& x 33| = 9,000
SANHE 29 WE2RU(REZ, Ed)
3,250,000 x 6IH & = 19,500
AR SHEHEAANE 29 EH 2L
100,000 x 10&E x3M A = 3,000
TSR X228 AZE 12 2,000,000 x 128 x 2 A = 48,000
=122 a2 P2 20,0009 x 200 = 4,000
oXtN ASHH M4 32,000
QAN ASHYH ARE Y (REIL)
15,000, 0008 x (M E = 15,000
HE AsxéHT (=) 350,0002 x 1004 = 3,500
A& HIQHEI RU(REEZ SdH)
2,000,000 x5 = 10,000
Aeis Az R (SdH) 350,0002 x 1004 = 3,500




I

0o

rx

NIg o (713) M el & £ ¢ (206) M=4l (et @ A3

=
= Z & E pli =

oH

oM=Jl € &) Az P 1,700& x 500 4 x 2 & = 1,700

CIIAHESR(2Y) a7 3,000& x1,500¢ x2M A& = 9,000

otf&2E e+ 15,500

b 2t (100A) 100,000& x 50mx 204 A = 10,000

swEe 250,000& x50 x 200 &~ = 2,500

SHAE 300,000& x5 x 200 & = 3,000

cEID ME FYU(FHEX) 15,000

A Ol & 1,500,000& x 504 = 7,500

=] 1,500,000& x 504 = 7,500

o2 FHAHI(HBR) HHY X SAM FL(FER) 26,000

s 180,000& x 100kg = 18,000

ArE 80,000& x 100L = 8,000




(700) 34 & Al olHl 8 Mg (713) X2l &bl = (208) WEH
BN
oo = oz o = y] =
& oo
cEdlotaMel R MHSSE IR AE22Y 7,000
A AN HZ 10,000& x 3002 x 18| = 3,000
OF &4 o} 5,000& x 4002 x 23| = 4,000
172,110 139,990 32,120|102 2=l
ostazNELE 2TH 7Y 172,110
AELSt=HH 4,000& x 1,000kg x 12& 48,000
REE ANNE RIS |
1103 x 1,000kg x 365 40,150
Eofiot=MelH (220 2 158,600& x 1,200kg x 12& 51,840
SHEAHRN OMHE SISHM P
1103 x 800kg x 365 32,120
448,500 445,200 3,300(05 ==l
oslaMAANE 29 MK 448,500




(700) 34 & Al oyl 8 M3 (713) X2l = (206) M EH| (29 &8
3 @ =
o o = 2 o = p] =
g of & o
+EXZotx X2l & 20,000,000& x 12&8 = 240,000
soliot==Hdel & 16,000,000& x 1201 & = 192,000
AP2 226Xl AE (4 ) 1,375,000& x 128 = 16,500
232,220 471,650 AN 239,430
232,220 471,650 A239,430(05 JIEtR AIHI
CHITHY £EFL4EIX WH(FEL) 20,000,000& x 504 = 100,000
ocxXSLAH BM(PREE) 3,500,000& x 4 A = 14,000
oNMEEH M DHM(FERE) 1,500,000& x 404 = 6,000
oQHH =& WHM(ZEE) 1,000,000& x5 A = 5,000
ocdAMERX) UM (RER) 6,000,000& x 204 = 12,000
o&EZI(380]) 22F WH(EH) 7,000,000& x 1CH = 7,000
ocFTHEDA =4I| WH(EdH) 30,000,000& x1CH = 30,000




k”é}- :

M
10

(713) HMel &bl

-

oo

S|

ol

c
_=

1

[

(o]
=

rx
=

(1]

15,000,000& x 1CH

270,000 x 86 m

20,000,000& x 14

15,000

23,220

20,000

208
oA o]

9,900

10,900

9,900

10,900

AE A |

TN+ 28 65,0008 x 158 x 43|

IR (GF/C) 7 & (48)
100,000& x 55 x 42

200,000& x 20&

3,900

2,000

4,000

300

o
S
2

22,169,057

19,264, 466

S
c =|ox

o
I
0z
oy

2,842

4,400

2,842

4,400

310& x 140Y x 200 x 12& =

2,842

1,042
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0 (713) Hel &
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0o

2l oo

12

Ol

2F
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&t £ ) =

30,000& x60= x 13| =

,800

307

RIZ2H0I M

22,166,215

19,260,

066

2,906, 149

22,166,215

19,260,

066

2,906, 149

Jm
H0
02
=

113.55& x 58,000= x 3652 x 1.15

105.26& x 152,000& x 365€ x 1.15

1,979.26& x 500k x 365 x 1.15

770.413 x 10,000 x 3652 x 1.15

WS Hl 1,000 x 500ké x 3652 x 10/100

16,649,

6,754,

9,480,

2,764,

6,715

415

3,233

3,233,

769

140

231

432

, 799

,398

, 796

796

,250




: (700) ot=S AtHHIE & 1 (710) HLHIE Mg : (713) Hel &yl S : (307) 220 A (&t - &R
o = 8 @ & _
4 o & o =z & 5 Il z
g N 5 o & o
SHA MMl Hal(srseil HAsAE 29) 2,264,400
OBl MeANE 2F(18~88) 71,000 x85& x 240 = 1,448,400
cE2HEAE 2 (98~128) 80,000& x 85 x 120 = 816,000
715
2l gt 2t 2| H] 4,861,153 4,780,891 80, 262
100
ol 2| 3,802,024 3,820,006 A17,982
101
ol | 3,571,324 3,581,686 A 10,362
3,527,252 3,548,233 A20,981|101 2=
ollEa(8=:76%) 2,343,022
53(30&) 3,698,200& x 3% x 12&8 = 133,136
63 (275) 3,149,000& x 156% x 12& = 566,820
72(198) 2,568,800& x 17 x 12& = 524,036
8=2(83) 1,726,500% x9H x 12& = 186,462
92 (45) 1,302,000% x3H x 12& = 46,872
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3,248,800% x 1€ x 12&

2,732,000& x 158 x 12&

2,351,000& x 128 x 12&

1,367,100 x 198 x 12&

2,343,022,000& x 1/12

72,505,000 x 19

8,078& x 46 x 30Al 2+ x 12&

Z 29)

8,078& x 13¥ x 37A| 2t x 5&

38,

491

338

195

195

72,

153

133

308

986

, 760

544

,406

,252

,252

505

,200

172

,428

,688
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= p)

b

- 2590l &

- 208 ~25E 0] &f

- 15@~20= 0| et

- 10@~15& 0] &t

3,673,400 x 1&H

3,149,000& x 10

2,568,800& x 16

1,726,500& x 14

2,732,000& x74H

2,351,000& x 744

x4.8/100x 122

x4.8/100x 12&

x4.8/100%x 12

x4.8/100x 12&

x4.8/100x 122

x4.8/100x 128

130,000& x 1998 x 12&

110,000& x 1998 x 12&

80,000& x 22H x 122

60,0003 x 69 x 12&

65,

23,

85,

29,

25,

21,

421

, 116

, 139

675

995

,016

,480

560

640

080

120

,320
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rx
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3 pli =

- 5@~10= 0/ &t

Eag

- SUTHOL Ol &f

AESHExE
- Jsstu
A+
S+=ge=4

50,000& x99 x 12&

40,0008 x 778 x0.78 x 12

20,0003 x 773 x 1.48x 12&

50,000& x 5% x0.06 x 12&

433,880% x 80H x0.15x 473

50,000& x 299 x 12&

30,0008 x1& x 12&

30,000& x 229 x 12&

56,

28,

27,

20,
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36,800& x 250

9,200,000& x 11.3%

(700) ot Al (710) SHIE Mg 2l gk 2t 2 ] S : (101) oAbl ¢ ®E
3 od o
of & o 2 a & | S
& of & o
* 852 0lot(Jl=883 O0ldt) 20,000& x 179 x 12& ,080
S JlEEELY IS 1360
* JIs&, JIA 30,000& x 189¥ x 12& ,480
* AEA I AL 20,000& x 129 x 12& ,880
- &dda=g 150,000& x 23H x 12& ,400
o J Mz A 130,000 x 77 x 12& ,120
o HE S| 2,343,022,000& x 1/12x 60% x 23| ,303
o HIJIE &Yl 2,403,886,000& x 15/360 ,162
44,072 33,453 10,619|04 DJI2ZtMZZ2XNSE =+

,240

,200

,040
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& = of A o
o3. A& EH S X 6,400
HERAZH SK22AH(HIZ AR 4)
500,000 x 65 = 3,000
DI OASIHEZAAH ST 22H (222)
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o1, 222 2 MA 10, 100
2M2Y 222 1,000,000% = 1,000
N =R 7,600,0002 x 13| = 7,600
ol AMsSE DANSY RE 250 & x5004 x 128 = 1,500
202
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166,080 164,040 2,040(01 =LHY S0
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oZJ|Y MASH =TRALEA |
60,0002 x 4% x 3 x 123] = 8,640
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705,991

631,754

74,237

4,339

3,742

597

4,339

3,742

597

Mo

0

93,700 x1& x 12&

7,000 x 138 x 22 x 123

4,000& x 1 x 22 x 12&

140,000& x 1&H x 22

15,0003 x 1% x2&

1,125

1,848

1,056

280

30

300
YOI
301
Bt E A
304

698,852

625,212

73,640

579,868

513,190
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oy
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Ijul
oy
He
HL
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2,623,834,000& x 17.251%

2,623,834,000& x 4.849%

452,638

127,230




2 (700) St AP I & @ (710) ¥ U Mg (715) LBtatel ] = (304) 32438 chel @ A
I = I
— A} OH = 2F A} = =
118,984 112,022 6,962|02 =LALESEREZ
oI PAHAEEHRE S 3,959,878,000& x 2.82% = 111,669
cLJILQLYEARES 111,669,000& % 6.55% = 7,315
307
QIZtOI A 2,800 2,800 0
2,800 2,800 0|06 H=X=23
oMo 24 22 700,000& x42J| = 2,800
720
FH b= 529,177 882,000 A 352,823
721
INE=10PN; 529,177 882,000 A 352,823
721-1
X =Z0lAt 529,177 882,000 A 352,823
529,177 882,000 N352,8283|c28 Y3 OIAMAE (2 aXelAlE OIS IAL)
2,700,000,000& x 6%/12x 12& = 162,000
osdidt=Meld AL (#SEN3 0lAH) 367,177
[AlI]119984 & 623,000,000& x2.8% = 17,444
[AI]1999E & 666,000,000& x2.8% = 18,648




© (721) X0l Xt

M
o
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0

2 : (721-1) NS0 X (

Ol

=

0o

&t £ pli =
[Al']2000¥ &= 3,250,000,000& x2.8% = 91,000
[AI12001E & 3,836,900,000& x2.8% = 107,433
[AlJ2002¥ = 4,737,600,000& x2.8% = 132,652




2 0 (100) XtEH : (120) JtS & HI XA Mg @ (123) A2 S (401) AMEHIS ? o HE
PSR ==
D—L Al_l‘ OH = = % D:I- jl =
o [g e = ool & o
100
e8I E 54,056,628 | 30,132,949 | 23,923,679
120
Jts &l Ao 3,738,086 4,325,963 A 587,877
123
HE 338,000 13,000 325,000
401
AEHIS 338,000 13,000 325,000
338,000 13,000 325,000(101 Al &HI
ox=&d, 230 6,000,000% x3& = 18,000
ocd=+ MOS8 300,000
& Al & Al 300,000,000& x 4.43% = 13,290
=23 A 286,710,000 x 14| 286,710
cAN&2eg ZFEX(S0 20,000,000& x 14 20,000
124
=2 3,082,286 3,710,993 A628,707
401
AlEHIS 3,082,286 3,710,993 N628,707
3,074,000 3,701,000 A627,000{01  Al€H
o3dt+=5 &l (POOL) 400,000,000% x 14| 400,000




& @ (120) DS A H| XA Mg @ (124) =2 = @ (401) AlEHIS (Sl @ A
=2 PSR ==
— of & oo = 2 A = pll =
&t = of & o
odtaT =4 (POOL) 600,000,0002 x 1Al = 600,000
o;agg S22/, 282 00IS 6t4+S HH L =S ZAH(L=45
Om
250,000
- ALAI S H 250,000,000 x 3.94% = 9,850
- Al &l 240,150,0009 x 14! = 240,150
ocQAS 24l bt T A X2 AHL=200m) 90,000
- ALAI S H I 90,000,0002 x 5.40% = 4,860
- Al Al 85, 140,0002 x 14l = 85, 140
o™ SHI(HE) st T A X2 AHL=250m) 100,000
- ALAI A A 8,400
-ZAbE= 2] 3,000,000 x 14! = 3,000
~ALAl & H Yl 100,000,000 x 5.4% = 5,400




m
)

0o
Jo

£t (401) AIEHIS
& E pli =
- A& 4] 91,600,000& x 14

ocsiH TF22 ot=% &3 AHL=200m)

- &AL Y
~XZ A= 2| 4,000,000 x 14!
~Al Al & H 110,000,000 x 4.31%
- A& 101,259,000 x 14!

o@IIH aE1el St=% & XIS AHL=200m)

50,000,000& x 14]

ocidlls Hl=Ssw =¥ ot=S HE =3 AH(L=450m)

- & A2 A Y 140,000,000& x 4.31%
- A& 4 133,966,000& x 14!

oiMlsS REXU St HE =S AH(L=210m)

21,000,000& x 14

,600

,000

, 741

,000

, 741

,259

,000

,000

,034

,966

,000
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= £t (401) AIEHIS (&2« &)
&t £ pli =
o&dcs NEXU St HE =S AH(L=160m)
50,000,000& x 14 = 50,000
cEdi g 0Otat2el ot=% & XIS AH(L=170m)
50,000,000& x 14 = 50,000
osiig s422 dt== HE S AH(L=100m)
40,000,000& x 14! = 40,000
ofZH =422 dt=% & X3 AH(L=150m)
50,000,000& x 14 = 50,000
o&ctdH 2332l st=% N2 =3 AH(L=300m) 120,000
- &AL E A 9,172
- AHS g 4,000,000& x 14 = 4,000
—& A2 A HI 120,000,000 x4.31% = 5,172
- Al & Hl 110,828,000 x 14 = 110,828

oJIAHE 3t=el k== & X3 AH(L=300m) 100,000




0o
Jo

= £t (401) AIEHIS (&2« &)
&t £ pli =
- &AL 4 A H 8,400
- AHS gl 3,000,000& x 14 = 3,000
-& Al &2 Al H| 100,000,000& x 5.40% = 5,400
- Al &8l 91,600,000& x 14 = 91,600
=JIS8 gJlel st=5 M2 =3 AH(L=200m)
80,000,000& x 14 = 80,000
oS Fexs81 & oS & X EAH(L=130m)
40,000,000& x 14 = 40,000
oS3 3 48XNU St=% JHE =3 AH(L=200m)
20,000,000& x 14 = 20,000
o¥Ys gL wsl & ot MHEB =3 AH(L=100m)
40,000,000& x 14 = 40,000
cdg 232 dt=% FHISAH(L=75m) 100,000

- &AL A H 100,000,000& x5.4% = 5,400




st & (120) JtSAHH| XA H& @ (124) =2 2 : (401) AIEHIS (el @ &
S rS I
— of & oo = 2 A = p) =
& = of & o
- Al & HJ 94,600
-[&] 30,000,0009 x 14! = 30,000
-[All 64,600,0009 x 14 = 64,600
oXI|IH ATP| Gt E A X2 AHL=200m) 100,000
ALAl A H I 100,000,000 x 5.40% = 5,400
- Al & HJ 94,600
-[&] 30,000,0002 x 1Al = 30,000
-[All 64,600,0009 x 14! = 64,600
odsE 10, 11EXWH St E HB2Z AH(L=130m)
65,000,0009 x 14! = 65,000
oEUS SRAEUY ST B 22 AH(L=300m) 300,000
ALAl & A I 300,000,000 x 3.94% = 11,820




100) K== D (120) JFS A Y XA HIg : (124) =2 S : (401) AI&EHIS
=
BL} A oM - 2 A = p] =
g S = o oM
Al & Hl 288,180,000 x 14! = 288,180
o= 18EXUW St2% IHE2=Z2AHL=210m)
63,000,000& x 14! = 63,000
o=2GC7s4M ORI R2 1A St=2I1 0l & Z2AH(L=140m)
60,000,000 x 1Al = 60,000
oz ZoteE HAUEKX LA 35,000,000& x 14! 35,000
8,286 9,993 AN1,707|103 A& S204H|
o Al &2 2] 3,069,000,000& x0.27/100 8,286
125
J| A & X 284,400 514,220 N 229,820
401
Al&HIS 284,400 514,220 N 229,820
284,400 511,000 A226,600|01 Al&H|
CREUSAHYIR COD, T-PUHECS SHILX(REX)
250,000,000& x 1Al = 250,000
oZJ|E 2 HAZAH(EDH) 430,000 x 80m = 34,400




(100) K=K = 8 ¢ (120) JFSEHIXA Mg : (126) Xtzeup 2 (405) KMAFHEHS (chel : He
), = & d &
ATE of & oA = & ) = Il =
g (e = o o o
126
Tz 17,000 23,000 6,000
405
THAHFSHIS 17,000 23,000 26,000
17,000 5,000 12,000{01 XraHE SHI
CHSNEX(2EWH ) A 2 (Z6H)17,000,0008 x 104 = 17,000
127
2I|7H B 16,400 39,750 ~23,350
405
THAHF SHIS 16,400 39,750 ~23,350
16,400 39,750 ~23,350[01 XHaHE St
oHMEH L XITY 1,000,000 x 14l = 1,000
oHi4EIN AEH Y 1,350,0009 x 404 = 5,400
o=IJI(HwI) 7Y 2,000,000 x 10§ = 2,000
SHIZAI 2Y(=2D) 4,000,0002 x 1CH = 4,000
oZEUSUA HE (D 2LIEH T (Z5H)2,000,0008 x 204 = 4,000




2 (100) MHEHXE &t 1 (130) BIJtsS &l AHat H& : (131) HESoIXA S : (401) AIEHIS cel @ AR
), = d 4@ &
— OH = b = =
= gpk"%’ = ol &F = o o o = 2 &F = | =
130
Hl Ot = & bl A&t 47,297,542 20,656,023 26,641,519
131
A& S OLAL& 16,023,542 9,478,023 6,545,519
401
Al&HIS 16,023,542 9,478,023 6,545,519
15,282, 143 8,994,000 6,288,143(01 Al &H|
o WEdte=Xeldy HA 6,948,000
[=] 4,013,000,000& x 14 4,013,000
[&] 411,000,000& x 14 411,000
[Al] 2,524,000,000& x 14 2,524,000
o Hot. JIAHGtXH&E HE 4,180,000
(=] 3,905,000,000& x 14 3,905,000
[&] 275,000,000& x 14 275,000
o EX (Y )sHE0ISota==FHH S A 1,491,203
(=] 1,166,000,000& x 14 1,166,000




& (130) HIJtS&HI X4 Mg o (131) A& SR 2 @ (401) AIEHIE (etel @ &

s 3 @ g
a = o & el w | B2 N & p] x

(=] 125,000,0008 x 14 = 125,000

[Al] 200,203,000 x 14! = 200,203

SEH BABHEY I L AANLH BY 498,940

JlE Y AN 9,000,000,0008 x 2.69%x 1.4 = 338,940

EEEIN 70,000,000% x 14! = 70,000

- EZF A 30,000,0008 x 14! = 30,000

CBH Sl F A 60,000,0008 x 14! = 60,000

CEE(FS,84) GH4RI FHIAY 1,901,000

- [=] 1,392,000,000& x 14 = 1,392,000

LA 509,000,000 x 14! = 509,000

oI st oh4=2H(2010BTL) At =HI2 263,000

=] 184,000,000 x 14! = 184,000




8 1 (130) HIJtS & HI X Mg o (131) A& SR 2 @ (401) AIEHIE (ete @ AR

0o
Jo

= 3 @ g
AF  OH = oF Ab = ES
Gl & o & o S = A E ) ==
- [Al] 79,000,000& x 14l = 79,000
692,797 455,000 237,797(02 Zeltl
o UEot+=HMeld Hd4 418,000
(Al 418,000,000& x 14 = 418,000
o FE (LY )sHE0ISot= S HHI S A 174,797
[Al] 174,797 ,000& x 14! = 174,797
L (5,84 a2t HUAlY dEsgde 829
100,000,000& x 14! = 100,000
48,602 29,023 19,579|03 A& =20ibl
o Eot=xel&E A4 18,620
[Al'] 7,448,000,000& x0.25/100 = 18,620
o ot IJIHGt=X2&E AL 11,286
[Al'] 4,180,000,000& x0.27/100 = 11,286




(100) KHEXX S 8 : (130) HIJIS &H| Xt Mg : (131) A& =0l = @ (401) AIEHIS (Sl @ HR)
= PSIE ==
— of & oo = 2 At = pll =
& = of A o
o =R (UM)SHE=0IS5tE T HH 2 A 5,998
[Al] 1,666,000,0002 x 0.36/100 = 5,998
CSH BHAHEH JI2 L AALH B 3,600
- [Al] 500,000,0002 x 0.72/100 = 3,600
OHLE (S5, 84 St FHUAY 7,204
- [Al] 2,001,000,0002! x0.36/100 = 7,204
o L& 42 (2010BTL) ALY =HI2 1,894
- LAl 263,000,0002 x0.72/100 = 1,894
31,274,000| 11,178,000 | 20,096,000
bl H| 31,274,000| 11,178,000 | 20,096,000
31,274,000| 11,178,000 | 20,096,000{02 ZZJ|2S0H A Y|
02 ZRI|IHSUEAISYI




8 (180) HOtSaE e ME c(192) FANSALSSAN S+ (403) BZIIRSHUB S ALY (251 : @
= 3 odE o=
B Ol &b o = 2 & = gl ES
8 = of & o
cotasX NASAIL &X 9,100,000
[=2] 6,339,000,0009 x 141 = 6,339,000
[£] 679,000,000 x 14] = 679,000
[Al] 2,082,000,0009 x 141 = 2,082,000
CoXEGtEHels MOlSAY 22,174,000
[=2] 19,958,000,0008 x 141 = 19,958,000
(=] 1,108,000,000& x 14 = 1,108,000
[Al] 1,108,000,0008 x 141 = 1,108,000
6,000 5,000 1,000
6,000 5,000 1,000
6,000 5,000 1,000
6,000 5,000 1,000{02 & &HJH 2 H|
oEHal T2y Y 3,000,0002 x 2HIE = 6,000




(100) XtEHK S 8 (220) HIRSSMYES ME : (226) JEHHIRSEH S : (601-01) AZ&E3 (B9 : A2
m s I
e o & o s z & & o] S
g e = o & o
220
HersSSMHas= 2,700,000 2,700,000 0
226
JIEtHI RS2 2,700,000 2,700,000 0
601-01
AN a3 2,700,000 2,700,000 0
2,700,000 2,700,000 Olo Sdiot+Held HE(HEEXNI) 2,700,000
[2]1998E8 & 124,600,000& x 43| = 498,400
[=]19994E & 9,850,000& x 43| = 39,400
[=]20008 &= 25,000,000& x 43| = 100,000
[2]2001E9 = 225,700,000 x 43| = 902,800
[=]2002E &= 225,700,000& x 42| = 902,800
[AIT1999¢ &= 64,150,000& x 43| = 256,600




(100) XtEHK S & : (800) OilHl g : (810) oilbl : (811) ol glbl Cigl  ER)
ﬂ}_ = AF  OH g8 8 = = oF =
g e = oo | T T
800
ol 8l Bl 315,000 2,445,963 | A2,130,963
810
0l Bl Bl 315,000 2,445,963 | A2,130,963
811
ool gl 315,000 2,445,963 | ~2,130,963
315,000 2,445,963 | A2,130,963| <= 0ilHld] 315,000,000& 315,000




